K1165_C

°
x = i 3 (o]
=S MdYH/XIE olo]x|
oYy
THEL:
A
M o2
o=|7'(.|E| al o|.04 c=2.
DIN 6379 &AE{E, DIN 6340 2+A4. DIN 6330B LHE Z &
HH.
2= WED XISHOR S Mol TUsHo A E + Mg
L—IEF IYHEZoBZosCiYgst 2HE X7t Qe 8o wat
SIMAIZ = JU&LICH 2k MaAF EE= HI- AN 7+F #0F ofLet =2
AME HE BOHIME CHESHAH IHEZE AMSE = U&Uct
HMIAZ]:
AT & X|
N
L1
—
E
|
= . | ||
< ! A AV AN —— m
5 | — 2 =
-
P’I‘R ! =
= |
=L2 e
D
\ |
@ x
|
|
L
Z= Q0o
FEHS Et & 2 B B1 D E H H1 H2 H3 H4 L L1 L2 k3] SEEE]
FE &9 LEAL kN
K1165.312115100 C AEE X3 44 30 13 11 0-30 18 27 17 12 115 25 30 M12X100 30
K1165.312115125 c AEIE ZE 44 30 13 11 0-55 18 27 17 12 115 25 30 M12X125 30
K1165.312150125 C AEBE ZE 55 41 17 12 0-50 20 36 21 17 150 35 36 M12X125 40
K1165.312150160 c AEE X3 55 41 17 12 0-70 20 36 21 17 150 35 36 M12X160 40
K1165.316150125 C AEE Z& 55 41 17 12 0-40 20 36 21 17 150 35 36 M16X125 40
K1165.316150160 C AEBC ZE 55 41 17 12 0-70 20 36 21 17 150 35 36 M16X160 40
K1165.320187160 c AEBE X3 62 30 21 14 0-40 30 42 27 20 187 44 44 M20X160 60
K1165.320187200 C AEBE 28 62 30 21 14 0-80 30 42 27 20 187 44 44 M20X200 60
K1165.320235200 c AEBC ZE 70 30 25 17 0-70 31 51 34 24 235 60 47 M20X200 75
K1165.320235250 C AE{E X3 70 30 25 17 0-100 31 51 34 24 235 60 47 M20X250 75

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



K1165_C

1Y 22, T8 ks, BRI C

= 29
FEWHS EFQJ 7 2 B B1 D E H H1 H2 H3 H4 L L1 L2 ks Sz

S He LFAF kN

K1165.324235200 C AEE T8 70 30 25 17 0-50 31 51 34 24 235 60 47 M24X200 75

K1165.324235250 c AEE 8 70 30 25 17 0-100 31 51 34 24 235 60 47 M24X250 75

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



